
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

GILLES TOOLING         INSTALLATION MANUAL       H05  rev.0.01 

  

   

   

 

 

 

 

   

Flat head 
bolt  M8 ×
30 

Aluminum collar 

 
Flat head bolt  
M8×30 

STD rubber bush 

Button head 
bolt M8×20 

M8 washer 

Flat head 
bolt M8×40 

Hexagon head 
bolt 

Button head 
bolt  M6 ×
20 

Button head 
bolt M6×20 

Flat head 
boltM6×15 Button head 

bolt M5×8 

Aluminum collar 
 

Flat head 
boltM8×30 

Flat head 
boltM8×30 

STD rubber bush 

1 2 3 

4 5 6 

7 8 9 

10 11 12 

13 14 15 

16 

Adapter pin 

Copper washer 
split pin 

Flat head 
boltM5×10 

Spring for stop 
lamp switch 
 

Flat head 
boltM5×10 

Button head 
bolt   

Button head 
bolt M8×20 

Flat head 
boltM8×40 

M8 washer 

Installation in change side 

Installation in brake side 

F:/Produkte/1_AS 31 GT/32Honda/H05 


